(6) TMiOETR EANARZ (EH0))

(ffis - M o, ZZE %)

R B - T 1
NEQAL | FE U M F B | EREATFR =W ML O Fr (£ Hb B G oY SRITENTME | AEER
M/ m M/ %

1 [HEH9—3 TR HEHTHERE3 TH3 6% 24+ 135, 000 165, 000 22.2
(3 —7—21]

2 |f)i9—2 T-HE IR T AR 1 7 % 9 41 255, 000 305, 000 19. 6

3 B9 —2 THER WEmHOH2THL 1% 160, 000 191, 000 19. 4
THOH2—17—11

4 |EEE9 -2 THEIR HEBTHEE2 THL 9% 4 184, 000 216, 000 17.4
[Hm2—3—11J

5 |@sr9—4 HAR EVXARG6TH3221% 256, 000 300, 000 17.2
TAR6—2—6]

6 s —1 THER ST =T 6 238 7 150, 000 175, 000 16.7

7 B9 — 7 THER WETEAT 2 TH2E 1 7 151, 000 176, 000 16.6
[HT2—4—25]

8 |irmo—2 HUHR THEXHEE2THIE4 2 515, 000 600, 000 16.5
FTHEE2—-14—19)

9 |MJIl9—3 THER )TN 3% 3 200, 000 233, 000 16.5

10 [{TA)I19 —4 HUHR TR)IXEEET3 TH 6% 2 5 400, 000 464, 000 16.0
ChEEHENT 3 — 6 — 3]

(ks : 11/ i, ZEE=R : %)
PN kB - T H1
BN [ 2 % M B | EREAFIR T OVE ML o> Pt {E HA S FNGAE LA 7R RS BRTEL RO | 28R
M/ o M/ i %

1 | KBREZILo —2 | KRIRKFF KB ILX s 1 TH 7% 145, 000 173, 000 19.3
(gt 1—2—90J

2 |FhEEHES — 4 LR AT R EITIEET 1 3 3% 128, 000 150, 000 17.2

3 | KBrAE9 — 1 KRBT KBmitkfEXAc i EE 1 TH 1% 1 94 111, 000 130, 000 17.1
FdbisEE1 —6—1 0]

4 | EHES — 1 LR A T O X AR T 3 6 3% 2 100, 000 117, 000 17.0

5 |BlF9—7 S o IR JRIR T HME=HT 1 3% 6 0 118, 000 138, 000 16.9

6 |[BIFo—8 SR SR T PE A T 8 1% 2 142, 000 166, 000 16.9

7 | RO — 3 S I AT RO XTI ET 3 0 BN 103, 000 120, 000 16.5

8 B9 —3 SR RIFTHXKET 2 TH 5 0%+ 134, 000 156, 000 16.4

9 |rhFEHR9 —1 S Jof IR AR X EE 3 THG6F 1 138, 000 160, 000 15.9

10 |#F 9 — 2 IR T ARSI 1 9% 5 82, 000 94, 500 15.2




(ffiks : 11,/ i, ZEEH=R : %)

4 &R T ¥
NEAL [ 1 % M 3% B | EREAFIR = YE ML O Pt (£ HA B FN6AEA 7R AMAS BRTELRbE | ZBiER
M,/ M/ o %

1 |AHEE9 -5 = bR O 2 0 5 &4+ 66, 000 73, 000 10. 6
[aEr2—111J

2 |&AEEPIN9O—1  |FE Sl RTH)IXTEMET4A T H 135% 2 34+ 123, 000 135, 000 9.8

3 |&bEEEmI -1 [F £ A =TTV XIR FIT 4 0 6 %41 198, 000 217, 000 9.6
FIRTFET4—1 1]

4 PR 9—1 = ARTA TR 1 3% 146 73, 700 80, 000 8.5

5 |ALE#9 —4 = TR AKSTHS8 0 11 64, 500 70, 000 8.5

6 |AEHZEEI—1 = BT 5ET 1 0 23F 82, 500 89, 500 8.5

7 |KIF9—1 = KAz L 2 1 33F 1 62, 500 67, 500 8.0

8 [AEEHI—1 = S ETHERE)IT 2 TH 1% 34+ 102, 000 110, 000 7.8

9 [AEEHK9 -2 = Sy BT P X 22 FLHT 3 45, 000 48, 500 7.8

9 [AEHEH#9 -8 = Sty BT PSR AT 3 8 9% 1 4% 45, 000 48, 500 7.8

(ffi¥s : M,/ nf, 8K : %)
W B - T ¥
AT [ 12 % M % B | AREAFIR B M o fr fE Hb 43 FNGAELA 7R AEiAS SRTHEL MM | A8
M/ m M/ o %

1 |REARKHE9 —1 7N FIHER R EERT RFARZKF KA 3 32 7&K 1 30, 000 40, 000 33.3

2 |Fk9—1 bt Tiki LE#A 1 0 4 6 &4 9, 000 11, 500 27.8

3 |REAHO—1 i AT HRX/NMISTHGBO0 2% 1 49, 600 60, 000 21.0
F/hhi3—2—771]

4 [FrEko—2 bt TFikift®@1 TH2%6 15, 000 18, 000 20.0

4 [EFF9—1 JeiEE AR 1 TH28%6 9 6, 000 7,200 20.0

4 [iiBER9I—1 bR iiEmHRXHES TH 9% 50, 000 60, 000 20.0

7 |[iEEWE9 -2  |[EHR METEREXEIT L TH 1% 74+ 134, 000 160, 000 19. 4
TEIT1—1—41]

8 [FEfmo—1 g o] HRAGGSRT R E 1 THO 84%6 82, 000 97, 800 19.3
o1 —2—1 71

9 MIBEEHE —1  |=iHiE METEWEXET3 TH1%ELS 125, 000 149, 000 19.2
(3 —4—5]

10 [t 9 —7 A o] U T HRXE 1 THSXK 6% 157, 000 187, 000 19. 1
Mg 1—28—1 3
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